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[03-01-03-01-0001 ]
ll 4 3 1 1 J3 1
(1) cos=—, tanh =— (2) sinf=——, tanf =— 3) sinf=——, cosfh=—
5 4 J5 2 2 2
(i) sin 6 \ i
sin® @ +cos® 0 =1, tanf = , 1+tan® 9 = DONRREFH U TS, 72771, 01X
cos 0 cos® 0
FiALY, sinfh, cosO, tan O OEIFIETH 5,
(Bfit]  TFTORDOELICEZALABCEZNE, 3LORIDERD THEL,
4 3
(1) BC?*=5*—-3=16 XV, BC=4 cos=—, tan0 = —
4
1 1
(2 AC*=(/H)*—2*=1 kb, AC=1 sin0 =——, tan0 = —
J5 2
3 1
(3) AB*=(/3)?*+1°=4 XV, AB=2 sinf=——, cosf =—
2
(1) (2)
A
Jb
1
o)
B B 2 C
1 1 )

1 3 2
U] (1

@)

sin70° =sin(90° —20" ) =cos20", cos70" =cos (90" —20" ) =sin20’
sin20”° =sin (90" —70" ) =cos70°
(3)

72D, HH=cos®70" +sin?70" =1
sinb0” =sin(90° —40" ) =cos40’, cosb0 =cos (90" —40" ) =sin40’
HEHX = (sin40" +cos40") >+ (cos40” —sind0" ) >
25

[03-01-03-03-0001 ]
72D T, HH=cos®20" +sin?20" =1
72D,
=5in%40" +cos?40" +2sin40" cos40” +cos?40" +sin®40" —2cos40” sin40” =2
5

(o]

5

EE;D,Dcx<x<> L35hL, BD=5—2X,
2

AADCx»ABDA

[03-01-02-05-0001 ]
A
2
5= x
B D @
x 2 5
LT, —= , L (b—I) =4,
2 5—X
5
—X*+5Xx=4, Xr*—5xr+4=0, (r—4)(xr—1)=0 r<— Xxbv, r=DC=1, BD=4,
\ BD 4 2)5
AB=,/4+16=25 L7283 -> 7T, cosB= = =
AB  2/5

5



H= AN 77 b
FARCHEETA H 24 [ 20000001 ] O R B
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ERECE T - AT T LR

U B — A

. [03-01-04-08-0001 ]
E(l) 0=<sinf =1 (2) —1=4sinf —1=3

(il (1) sin 0 OFFIL, PHRIOEMMOY OFFAICH 5, Y ERT

1
45 DL & f 90" DL XTETHINL, 180" DL X0F THATHND,

0=sinf =1

X
2 MY, 0=sin0 =1  FDEAMETDHE, 0=4sin0 =4,
B B1E2OL L, —1=4sin) —1=3
[03-01-04-06-0001 ]
n -1 @2 0
(fizzn] (1) cosl20" =cos (180" —60° ) =—cos60° sinl120° =sin (180" —60" ) =sin60°
L oT, HRX=—cos?60 —sin*60" =—1
(2)  cosl150" =cos (180" —30" ) =—cos30’ sinl50° =sin (180" —30" ) =sin30’
Lo T, 5:=—5in30" c0s30" +co0s30  sin30" =0
UBlIfiE] 1 J3 1 1 J3\? 1 3
(1) cosl20'=——, sinl200 =—+ 726, A=— | — | | — | =—— ——=—1
2 2 2 2 2 4 4
J3 1 1 J3 J3 1 3 3
(2) cosls0 =———, sinlb0 =— 7Zhb, Hh=— | —— |+ — —=——"+—=
2 2 2 2 2 2 4 4
. . . . . . . . [03-01-04-07-0001 ]
@ (1) 0, 307, 150", 180 (2 0, 45, 135, 180 (1) 1 () 1
il (1) AREXY, sinf=0 DLx, =0, 180
1
sinf=— m&X, =30, 150 e AL
-1 O 1 -1 O 1

=0", 307, 150", 180’

2
0
1 o o
(2) 2sin@ |sinf——— | =0 FHLEXXY, sinf=0 L=, §=0, 180
J2
1

=45 ’ XoT, 0=0", 45, 135, 180
2
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(1) 60" <0 <120° (2) 0=0<30, 150" <0 =180 (3) 30" =0 =150
[Fai] (1) Toky, 60" <0 <1207
1
(2) 2sinf +1<2, 2sinfh <1, sinh < — ko, 00=60<30, 150 < 0 =180°
2

(3) cos?0=1—sin’0 ZMALT, 3sinf —2(1—sin*0) =0, 2sin®? 6 +3sin —2=0,

1 1
(2sin 0 —1) (sin 6 +2) =0 sin0 =—2, — =sin0 F77, 0=sin0 =1 75, — =sinh =1
2 2

£oT, 30 =0 =150

(1) 1 (2) 1 (3) 1
° Nmﬂ ggso
-1 0 1 -1 0 I -1 0 1

[03-01-04-09-0001 ]



	高校数学Ⅰ・A_解答・解説1.pdf
	高校数学Ⅰ・A_解答・解説2.pdf
	高校数学Ⅰ・A_解答・解説3.pdf

